CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD PPE REPORT 2018-19

DISTRICT: 136 STERLING

PER-PUPIL EXPENDITURES

			STATE, LOCAL	-
		FEDERAL	AND OTHER	
CODE	SCHOOL NAME	FUNDS	FUNDS	TOTAL
1360311	Sterling Community School	346	16,209	16,555
TOTAL DIS	TRICT EXPENDITURES	445	15.579	16.024

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD EXPANDED PPE REPORT 2018-19

DISTRICT: 136 STERLING

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	EXPENDITURES P	UPILS	FED	ST/LOC	PRI/OTH	SCHL PPE	CENTRAL	TOT PPE
1360311	Sterling Community School	5,002,335	361	346	13,511	0	13,857	2,698	16,555
TOTAL SCH	HOOL EXPENDITURES	5,002,335	361	346	13,511	0	13,857	2,698	16,555
DISTRICT	CENTRAL EXPENDITURES	973,998	361	- 0	2,698	0		2,698	
OUTPLACED	D/OUT OF DISTRICT PUPILS	2,436,471	164	665	14,192	0			14,857
TOTAL DIS	STRICT EXPENDITURES	8,412,804	525	445	15,579	0			16,024

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY FUNCTION REPORT 2018-19

DISTRICT: 136 STERLING

PER-PUPIL EXPENDITURES

		LOW	HIGH		PCT HI	INSTR-	SUPPORT	IMPROV	LIBR	SUPPORT	SCH00L	PLANT	TRANSP	ENTERP	MINOR	
CODE	SCHOOL NAME	GRADE	GRADE	ENROLL	NEED	UCTION	SVCS	INSTR	SVCS	INSTR	ADMIN	OPS	NOTHOME	OPS	CONST	TOTAL
1360311	Sterlina Commun	PK	08	361	47	9.866	495	27	5	875	930	1.485	0	174	0	13.857

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY OBJECT REPORT 2018-19

DISTRICT: 136 STERLING

PER-PUPIL EXPENDITURES

		LOW	HIGH		PCT HI		EMPLOYEE	PURCH				
CODE	SCHOOL NAME	GRADE	GRADE	ENROLL	NEED	SALARIES	BENEFITS	SVCS	SUPPLIES	PROPERTY	OTHER	TOTAL
1360311	Sterling Community Sch	ool PK	08	361	47	8,841	2,049	1,755	830	380	3	13,857

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY FUNCTION REPORT 2018-19

DISTRICT: 136 STERLING

			PUPIL	
FUNCTION	EXPENDITURES	PUPILS	BASIS	PPE
INSTRUCTION	5,997,976	525	1	11,425
SUPPORT SERVICES - STUDENTS	178,755	361	2	495
SUPPORT SERVICES - INSTRUCTION	327,392	361	2	907
SUPPORT SERVICES - GENERAL ADMIN	238,753	361	2	661
SUPPORT SERVICES - SCHOOL ADMIN	335,732	361	2	930
CENTRAL AND OTHER SUPPORT SERVICES	103,496	361	2	287
OPERATION AND MAINTENANCE OF PLANT	535,964	361	2	1,485
STUDENT TRANSPORTATION SERVICES	630,205	577	3	1,092
FOOD SERVICES	1,543	361	2	4
ENTERPRISE OPERATIONS	62,987	361	2	174
MINOR SCHOOL CONSRUCTION	0	361	2	0
TOTAL	8,412,804	525	1	16,024

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. THIS REPORT IS BASED UPON DATA REPORTED BY SCHOOL DISTRICTS; QUESTIONS CONCERNING REPORT DATA SHOULD BE ADDRESSED TO THE SCHOOL DISTRICT.

PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 3 TOTAL PUPILS TRANSPORTED

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY OBJECT REPORT 2018-19

DISTRICT: 136 STERLING

			PUPIL	
OBJECT	EXPENDITURES	PUPILS	BASIS	PPE
SALARIES	3,652,824	361	2	10,119
EMPLOYEE BENEFITS	947,422	361	2	2,624
PURCHASED SERVICES	760,435	361	2	2,106
TUITION	2,436,471	164	4	14,857
SUPPLIES	381,588	361	2	1,057
PROPERTY	227,182	361	2	629
OTHER	6,883	361	2	19
TOTAL	8,412,804	525	1	16,024

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. THIS REPORT IS BASED UPON DATA REPORTED BY SCHOOL DISTRICTS; QUESTIONS CONCERNING REPORT DATA SHOULD BE ADDRESSED TO THE SCHOOL DISTRICT.

PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 4 OUTPLACED PUPILS

June 24, 2020 CONNECTICUT STATE DEPARTMENT OF EDUCATION

BUREAU OF FISCAL SERVICES OUTPLACEMENT PPE REPORT

DISTRICT: 136 STERLING 2018-19

TUITION TYPE	EXPENDITURES	PUPILS	PPE
TUITION FOR PRIVATE, RESIDENTIAL OR OUT OF STATE	436,272	7	62,325
TUITION FOR INTERDISTRICT MAGNET	99,482	19	5,236
TUITION FOR INTERDISTRICT COOPERATIVE HS	1,244,883	116	10,732
OTHER TUITION	655,835	22	29,811
TOTAL TUITION	2,436,471	164	14,857